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All questions are compulsory.
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Question Nos. 1 to 5 are very short answer type questions. Each

question carries 1 mark. Answer should be given in / word or J _
sentence.
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Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)
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Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
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Question No. 23 carries 4 marks. (Word-limit 70 words)
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Question Nos. 24 to 26 ¢arry 5 marks each. (Word-limit 100 words)
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Draw clean and labelled diagram wherever necessary.
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What is Tyndall effect?
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Write only equation of Finkelstein reaction.
WAl 3T Wi H e S =i 2 [

Phenol is acidic in nature. Why?
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Draw structural formula of 4-methyl pent-2-one.
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What do you mean by glycosidic bond?
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2.82 gm of glucose (molecular mass = 180) is dissolved in 30 gm of

water. Calculate mole fraction of glucose.
= sl & fog sfufsran it 9ifz a3 feris 1 358 T@
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From the following chemical reaction, determine order of reaction

and dimension of rate constant, Rate = 'k[CH3CH0]3" ‘.

CH;CHO(g) — CH,(g) + CO(g)
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Why is helium used in diving apparatus?
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Explain diazotisation with equation.
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PK, of aniline is more than that of methylamine. Why?
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What is Raoult’s law? Explain its mathematical expression.
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Explain Arrhenius equation.
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Write notes on the following :
(@) Gold number

(b) Dialysis
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Explain the purification of metal by Zone refining method with the

help of diagram.
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Nitrogen does not form pentahalide. Give reason.
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Explain the following properties of 16th group elements :
(a) Oxidation state

(b)) Electron affinity
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(37) K;5[Co(C,0,),]
() [Mn(H,0),)2*

(®) [Ni(NH,),ICl,

Write IUPAC names of the following compounds :
(a) K3[Co(0204)3]
(6) [Mn(H,0)J2*
(© INi(NH,),]CI,

FAXEH 1 gH T [UPAC Tm fafew 3= s el § =1 @ s
%2 [2+1=3]

Write the formula and IUPAC name of chloroform. Why it is stored
in coloured bottles?
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Draw structural formula and IUPAC names of three isomers of

alcohol, having molecular formula C¢H|,0.
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Explain different types of RNA found in the cell.

(37) agetR Y IR Wiga gz
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(a) Explain the term polymerization with example.

(b) Write one difference between low density polythene and high
density polythene.

Fim Ty F ¥ ? Q[ [2+1=3]
What are artificial sweetening agents? Give two examples.
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Explain the following :
(a) Tetrahedral voids -
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Explain the following :
(a) Ferromagnetism

(b) Paramagnetism
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Explain the following (write only chemical equation) :

(a) Gattermann-Koch reaction
(b) Stephen’s reaction

(c) Rosenmund reaction

(d) Aldol condensation

(¢) Cannizzaro reaction

[2+2=4]

[1+1+1+1+1=5]
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What happens when (write only chemical equation)?-
(a) Grignard reagent is treated with CO,

(b) Carboxylic acid reacts with alcohol

(c¢) Acetaldehyde reacts with HCN

(d) Aldehyde reacts with NaHSO,4

(e) Acetic acid reacts with Na metal
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What is standard hydrogen electrode? Explain with diagram.
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What is electrochemical cell? Explain its working with the
help of diagram.
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Write general electronic configuration of transition elements and
explain their following properti€s -
(a) Magnetic property

(b) Catalytic property
arerar
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Explain preparation of potassium dichromate and write its jonic

equation with the following :
(a) Iron

() H,S



